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Ch. 2: Derivatives

Exercise 2.4 — Practice Problems

1. Use the Product Rule to find the derivative. Do not simplify your answer.
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2. Use the Product Rule to differentiate each function. Simplify your answer.
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3. Find the slope of the tangent to the given curve at the point whose x-coordinate is given.
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5. Find the equation of the tangent line to the curve y = (2 — vx)(1 + vx + 3x) at the point (1, 5).
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Calculus 12

6. Iff(2)=3,f'(2) =5,9(2) = —1,and g'(2) = —4, find (fg)'(2).
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Ch. 2: Derivatives

7. If f is a differentiable function, find expressions for the derivatives of the following functions.
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a) Use the Product Rule with g = f to show that if f is differentiable, then
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9.
a) Use the Product Rule twice to show that if f, g, and h are differentiable, then
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11. Use the Principle of Mathematical Induction and the Product Rule to prove the Power Rule
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